V-666 58 15 9

Y

2)

1 4
40cm
22.6kgx 4=90.4kg
30cm
1 10 1
||
3) I ‘\\:
r,0) 1 — 1 1
_ D ! a : : |
(=7.45cm) | : , | I
(=22.57cm) F@,{ |
b
r=a b =15cm
=2( ) 0.8
=m 2x30 ( : )
=2n D n (D: : )
1
Re
r r
r=— — (. =, )
950-2181 2 8050 025 262-6793

-1329-



V-666 58

cm 20 = mm
10 20 30
=14.25cm =19138.39cm®
=15cm =75.40cm?
0.2cm U X
0.22cm? 600
=31.90cm®
=253.85cm/sec
Re
Re = — :ﬂ (n: )
\Y Re
=30.24cm
3
4 5 10 30
10 30
0 60
1
6
D
,No.478/V-21  1993.11
2) 57
3) : , 1976

-1330-

15 9
=30.24cm
10 20 30
v cm?/sec 0.141 | 0.150 | 0.159

p (x 10%g/cm?)

1.247 | 1.205 1.165

r cm

118.62 | 118.62 | 118.62

Re

720.14 |1 676.93 | 638.62

0.0889 1 0.0945 | 0.1002

17591 |171.16 | 166.70

0.69 0.67 0.66

Re: =

0.0

100 200 300
()

(8-5,D=4cm,n=20 )

s @

0.0

100 200 300
()

(10-5,D=4cm,n=20 )

(cm/s)

0.050

0.045

0.040

- |

0.035

0.030

0.025

0.020

0.015

0.010
0.0

100 200 300
()

(13-5,D=2.5cm,n=20%)

2.00 ®
198

1.96
194

192

0.0

10.0 20.0 300

pl27 128




